w1 I T E e

[N 105 BFEERITHEEZ NSEETEE)

B = — - = m il 7\ BRBEORTEEE
15 | 16 17 18 19 20 21
RED | ZRBIA
— NEREE | NEREH|
= 22 | 23 24 25 26 27 28 | 1/16-17 s=Zg=E
& B NEREW NEREH NEREN R | B~ | 117 CEREEEE GRS 5-6 &)
29 | 30 31 1 2 3 4 1/18 2ARAIRIR(ES 5-7 B)
M= = ¥ h 1/19 1A (7:30-12:00)
5 6 7 8 9 10 1
NEREE| NERSE| NERSE| NERSE| NERSE 2/13 BaER
L 12 13 14 15 16 17 18
- HE LR | %1/20-21(75)-23-24-25 LR X
19 20 21 23 24 25 T\ R4 R EE2(8:00-12:00)
2| B . TR RS (7:30-12:00)
3 2 12$7ﬂ3x i?ﬁ?z 1 2 3 4 || %2/6~10 NEREIBEE(8:00-12:00)
4 5| 6 7 8 J 10 1 1/19-23 (T EEEmES)|(8:00-17:00)
1/19-25 FERXZ2)(8:00-17:00)
_ 12 13 14 15 16 17 18 -
5| = 2/9~11 {T S L@ %R )|(8:00-17:00)
6| m| ] 20 21 22 23 24 25 | 211 TEEXERRERE
B} 26 | 27 28 29 30 31 1 *EEEEH
EX— EX— 1/20 EEEES
8 2 3 4 5 6 7 8 1/21-22 EFYPRETE
ER | ER 1/23-1/25 EFEES
o 9 10 1 12 13 14 15
J\ER IR EEE * B IRE
16 | 17 18 19 20 21 22 1/20~26 ~ 2/6~10
10| @
23 24 25 26 27 28 29 * E R HEPEE BFE-ERIRTS
B o o =356 1B IFE -2
1 1/20 ~ 1/24 ~ 2/2 ~ 2/6 ~ 2/8(9:00-11:00
K a EREERRERIEER
30 1 2 3 4 5 6 —
12 g2y 2=(llop e = * S EARIHROR T #2(9:00-11:00)
123 [ 125 | 2/3 | 2/7 | 2/10
13 ! 8 9 10 = 12 1 706 | 705 | 704 | 701 | 703
708 | 709 | 710 | 702 | 707
14 14 15 16 17 18 19 20
h el 213 B R E=EmEmEs-ay
N 21 2 23 24 25 26 27 | 213 I « \NERBRIE
= 2/14 EFME (B E LR 2 B 23 8)
16 28 29 30 31 1 2 3 2/16 EHEBAIE
ER ER LR 2/18 # LR 2/127(—)
4 5 6 7 8 9 10 | 2/20-2/24 =3E
17 1y e
T 12 13 14 15 16 17
18| 7\ R 2 S
olg| 8] 19 20 21 22 23 24
20 25 | 26 27 28 29 30
= | = e




